XLMK
HEA SRR IEE LY HANSAVFLEX

| _§:3
B0 KEISRS BH T T A T
EHER 1 BABmHR ' sw -'-
BO2+3 KEIIRR BT e e
BHPR2+3  24°708 L N 19 1
| [
ERXE mARBEEE - r 3.
EBER LT — '
B DIN 2353 ™ T .
ﬂ -
BEEE NG LT DE)
[ P
RERP B
®’R
BREE, BA. EARENAEN TEREN A EESHERREENERES,
#® @
EMRH IHENED  Gd2
(mm)
XLM 04 LL LL PN 100 4 M8x1K 8 11,0 17 15 9
XLM 05 LL LL PN 100 5 M8x1K 8 9,5 17 15 1
XLM 06 LL LL PN 100 6 M10x1K 8 9,5 17 15 9
XLM 08 LL LL PN 100 8 M10x1K 8 11,5 20 17 12
XLM NW 04 HL L PN 315 6 M10x1K 8 12,0 20 19 12
XLM NW 06 HL L PN 315 8 M12x1.5K 12 14,0 26 21 12
XLM NW 08 HL L PN 315 10 M14x1.5K 12 15,0 27 22 14
XLM NW 10 HL L PN 315 12 M16x1.5K 12 17,0 28 24 17
XLM NW 13 HL L PN 316 15 M18x1.5K 12 21,0 32 26 19
XLM NW 16 HL L PN 315 18 M22x1.5K 14 23,5 36 31 24
XLM NW 03 HS S PN 400 6 M12x1.5K 12 16,0 26 23 12
XLM NW 04 HS S PN 400 8 M14x1.5K 12 17,0 27 24 14
XLM NW 06 HS S PN 400 10 M16x1.5K 12 17,5 28 25 17
XLM NW 08 HS S PN 400 12 M18x1.5K 12 21,5 28 29 17
XLM NW 10 HS S PN 400 14 M20x1.5K 14 22,0 32 30 19
XLM NW 13 HS S PN 400 16 M22x1.5K 14 24,5 32 33 24
HEHWRFLL=3FER =R S=E - PN=#1EESH PB=RAI{EH - dd2=EBHER
P Rt
XLMK VA REARSBIIEE LT, FHH
LMK AR ERE LT, W

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
23.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



